2022 EBEREITILIXRE Z#/)\BHH L k1) —{EBE

JL—B : 20224068178 BLAR—IL 1.2.3.4.5.6.7.8.9.
BmEAX A TILRYT i * ok ok ok K %

FBEHD B4 40 %% 40 AT % % %k % %
R Xk ok kx kx %

g 3z K £ $5Ee | LEAY | M| GROSS | HDCP NET B 152 K £ $5EE | LEAY | #Me | GROSS | HDCP NET & 52 K £ SRR | LEAY [ M| GROSS | HDCP NET
1 (g 45 | 45 90 21.6 68. 4 51 (hiB & 41 43 84 10. 8 13.2 101 [FEk =& 45 43 88 13.2 74.8
2 (fAH IE# 45 48 93 24.0 69.0 52 | L4k G&ALER 49 47 96 22.8 13.2 102 |# 1BE— 49 45 94 19.2 74.8
3 [HIE Fx 43 43 86 16.8 69. 2 53 |luh FEH 49 | 47 96 22.8 13.2 103 |3 HIX 48 | 46 94 19.2 74.8
4 |5H JEF] 42 | 41 83 13.2 69. 8 54 ||/# 37 40 77 3.6 13.4 104 [HK EER 50 | 44 94 19.2 74.8
5 [dJIl 8hSE 41 42 83 13.2 69.8 55 [A# XK— 47 42 89 15.6 13.4 105 |#E<K 5 48 46 94 19.2 74.8
6 [dLJIl JIEZ= 43 39 82 12.0 70.0 56 (A& Eif 44 | 45 89 15.6 13.4 106 |JIL EZFEF 50 56 106 31.2 74.8
7 |B% B 40 4 81 10.8 70.2 57 NE R 46 49 95 21.6 13.4 107 [/NR &— 41 46 87 12.0 75.0
8 [Hm HA 47 40 87 16.8 70. 2 58 |EXR RHt 51 44 95 21.6 713. 4 108 |k & 43 | 44 87 12.0 75.0
9 |#8 K THER 40 34 74 3.6 70.4 59 |E = 39 317 76 2.4 713.6 109 |F5 BR4E iy 46 93 18.0 75.0
10 [/DiE BE 42 | 44 86 15. 6 70. 4 60 |EH E=& 44 | 38 82 8.4 73.6 110 (lua & 50 [ 49 99 24.0 75.0
1 H— 39 40 79 8.4 70.6 61 |IUYEg HEXF 39 43 82 8.4 13.6 111 (8H A&— 50 49 99 24.0 75.0
12 |t Hmh 41 49 90 19.2 70.8 62 |RIR RER 41 41 82 8.4 73.6 12 |50 — 50 | 42 92 16.8 75.2
13 [RE =& 41 36 11 6.0 71.0 63 |FEER B 45 | 43 88 14. 4 713.6 113 |IluA  =B5h 46 46 92 16. 8 75.2
14 |60 EZ2 43 | 40 83 12.0 71.0 64 gl 4T 45 43 88 14. 4 73.6 114 (8 H= 50 | 42 92 16. 8 75.2
15 | BZ 44 37 81 9.6 1.4 65 |FEIL B 44 | 44 88 14. 4 13.6 115 |Bi5; FF 49 49 98 22.8 75.2
16 | K& RE 44 | 37 81 9.6 71.4 66 [LLA 1&F 46 42 88 14. 4 73.6 116 (BRA ==EI 39 | 40 79 3.6 75.4
17 |8l & 44 43 87 15.6 11.4 67 |FFO EE 40 | 47 87 13.2 13.8 117 |Be Eth 42 43 85 9.6 75. 4
18 |[RE F=E 48 39 87 15.6 71.4 68 |1&H M= 43 44 87 13.2 73.8 118 |HGEy EE& 40 | 45 85 9.6 75. 4
19 (FTsp0FH  Th 44 | 43 87 15.6 11.4 69 |=iF B 46 | 41 87 13.2 13.8 119 |5FH &7 46 | 45 91 15.6 75. 4
20 B ZE 50 | 48 98 26.4 71.6 10 |& BIF 50 | 43 93 19.2 73.8 120 |F&X ¢ 44 | 46 90 14. 4 75.6
21 | Z=Z=8 47 51 98 26. 4 71.6 n (BE & 49 44 93 19.2 13.8 121 [tk F|k 44 | 46 90 14. 4 75.6
22 |/ME  FE 44 41 85 13.2 71.8 72 |12 HEEFE 51 42 93 19.2 73.8 122 1% B 46 44 90 14. 4 75.6
23 | IET 48 | 43 91 19.2 71.8 13 Wik &— 42 51 93 19.2 713.8 123 |18H ®5 iy 49 96 20. 4 75.6
24 Bt H 45 | 46 91 19.2 71.8 4 1% BA 54 51 105 31.2 73.8 124 (Rl &1T 50 46 96 20.4 75.6
25 [H 1&— 45 46 91 19.2 71.8 5 |BH BE 49 43 92 18.0 74.0 125 |BkiE FNE 51 45 96 20. 4 75.6
26 | BT 43 35 78 6.0 72.0 16 [sx48 B 51 47 98 24.0 74.0 126 | K¥ F5B 47 49 96 20.4 75.6
27 1B HR=2 43 41 84 12.0 72.0 17 | X¥ = 53 51 104 30.0 74.0 127 |#)Il EX 48 | 48 96 20. 4 75.6
28 | #EX 46 | 44 90 18.0 72.0 18 |[FZE % 57 57 114 40.0 74.0 128 |ILA BBt 48 | 48 96 20. 4 75.6
29 [AK F= 45 45 90 18.0 72.0 19 | KR A 46 39 85 10.8 74.2 129 |db4 BB 50 | 52 102 26. 4 75.6
30 [FMA 2 52 | 44 96 24.0 72.0 80 [N EiT 43 | 42 85 10. 8 74.2 130 |B§ H&X 51 51 102 26. 4 75.6
31 KR A{ZHf 45 38 83 10.8 12.2 81 |#&H IEX 44 | 47 91 16. 8 14.2 131 (&R ##4 317 40 71 1.2 75.8
32 Bl »Z 47 42 89 16.8 12.2 82 |/hFE  ARE 46 | 45 91 16. 8 74.2 132 |Fl  F0kE 42 1 4 83 1.2 75.8
3B &8 E—H 47 48 95 22.8 12.2 83 |t Z—BH 42 49 91 16. 8 14.2 133 (AR #= 44 | 45 89 13.2 75.8
34 [#)Il BE—ER 50 | 51 101 28.8 12.2 84 |X# Hik 45 46 91 16.8 14.2 134 ([ X 45 [ 50 95 19.2 75.8
35 |HZ BRE 39 42 81 8.4 712.6 85 [BX H 48 49 97 22.8 14.2 135 |Hf A— 50 | 45 95 19.2 75.8
36 |fEA %08A 43 | 44 87 14.4 12.6 86 |dt&t & 59 [ 50 109 34.8 14.2 136 (#ry &= 48 | 47 95 19.2 75.8
371 |2 &9 43 | 44 87 14.4 712.6 87 |H#L =T 43 | 41 84 9.6 14. 4 137 | K& =7F 53 48 101 25.2 75.8
38 |dt#t {E—EH 46 | 47 93 20.4 12.6 88 (A ZE— 44 40 84 9.6 74. 4 138 |#887 = 49 45 94 18.0 76.0
39 iIH =B 49 | 44 93 20.4 712.6 89 |MH Fat 47 43 90 15.6 14. 4 139 |18 &= 46 48 94 18.0 76.0
40 |[HH FiE 47 | 46 93 20. 4 12. 6 90 |XKE —H# 46 44 90 15.6 14. 4 140 [JI#F  ffith 46 | 48 94 18.0 76.0
A1 ilE = 50 49 99 26.4 712.6 N =l #K£4E 45 51 96 21.6 74. 4 141 |fBE BZ 50 44 94 18.0 76.0
42 [h F 39 41 80 1.2 72.8 92 |/NZE {E—ER 50 46 96 21.6 14.4 142 |HJIl = 51 49 100 24.0 76.0
43 |IMR E=— 44 | 42 86 13.2 712.8 B |1EE ERE 43 46 89 14.4 74.6 143 |RiZE E& 50 50 100 24.0 76.0
4 |FH FBA 47 45 92 19.2 72.8 94 [Fm *LF 45 | 44 89 14. 4 74. 6 144 |Ihith =2 40 [ 4 81 4.8 16.2
45 |ZH HRE 45 46 91 18.0 73.0 9% |&H = 50 | 45 95 20. 4 74.6 145 |5H 1S 47 46 93 16.8 76.2
45 (&H# J\HA 45 46 91 18.0 713.0 9% |& RE ol 44 95 20.4 714.6 146 &k Rl 46 | 47 93 16. 8 76.2
47 |BJ)Il BAA 49 | 48 97 24.0 73.0 97 |EHE R 41 41 82 1.2 74.8 147 |BaH FEME 49 50 99 22.8 76.2
43 (B B 48 b5 103 30.0 713.0 08 |#ME  JoB 43 39 82 1.2 74.8 148 |&HFAKX IE 50 49 99 22.8 76.2
49 |F1E = 45 39 84 10.8 13.2 99 |mhJIl #HAX 39 43 82 1.2 74.8 149 (&0 #IB 51 48 99 22.8 76.2
50 |FEHE Bz 42 | 42 84 10. 8 13.2 100 |&FT oA 46 42 88 13.2 74.8 150 [XE =EIE b1 54 105 28.8 76. 2
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g 3z K £ $5kEe | LEAY | Mk | GROSS | HDCP NET B 152 K £ $5EE | LEAY | #Me | GROSS | HDCP NET & 52 $hEE | LAY [ M| GROSS | HDCP NET
151 [#E HFX 4 39 80 3.6 76.4 201 (de)il  Z: b1 b1 102 24.0 718.0
152 (luX Z#F— 42 | 44 86 9.6 76.4 202 (FEH MC 56 | 46 102 24.0 78.0
153 [l #aAT 44 | 42 86 9.6 76.4 203 |&ZH#E —Rk 50 | 52 102 24.0 718.0
154 (¥t FE 49 | 43 92 15.6 76.4 204 [XKiEm 2 52 43 95 16. 8 78.2
155 | KR =87 4] 45 92 15.6 76.4 205 |B/H ok b3 | 48 101 22.8 18.2
156 [H# 2= 50 48 98 21.6 76. 4 206 | L¥F EF 54 | 53 107 28.8 78.2
157 |4t B3 53 45 98 21.6 76.4 207 (RRJII {&— ol 50 107 28.8 18.2
158 (iR =3B 46 52 98 21.6 76.4 208 (lLHE tE— 62 51 113 34.8 18.2
159 [Z =7 48 50 98 21.6 76.4 209 (JI# i 41 46 87 8.4 18.6
160 |dbJIl FOkE 51 47 98 21.6 76. 4 210 R+t (& 42 45 87 8.4 78.6
161 | H EH4E 4] 51 98 21.6 76.4 211 [/hvk = 50 | 49 99 20. 4 718.6
162 |4tEH EHF] 49 49 98 21.6 76.4 212 (W #iE 57 48 105 26.4 78.6
163 |"TH R#H 40 | 45 85 8.4 76.6 213 /M k2 IER 54 | 57 111 32.4 18.6
164 (A8 Mz 46 39 85 8.4 76.6 214 |E)\ & 51 60 111 32.4 78.6
165 | Xk Ik 48 | 43 91 14. 4 76.6 215 (Il 838 53 51 104 25.2 78.8
166 |%748 =& 45 46 91 14.4 76.6 216 | KHB i 56 48 104 25.2 78.8
167 | BRIl RFE 46 45 91 14. 4 76.6 217 |4t FEMER 53 57 110 31.2 78.8
168 |FAX F= 49 | 48 97 20.4 76.6 218 |R¥ EiHNF 52 45 97 18.0 79.0
169 |E)Il 22 43 54 97 20.4 76.6 219 (5@ & 47 50 97 18.0 79.0
170 [#H & 55 48 103 26.4 76.6 220 |BEft =tK 50 | 46 96 16. 8 79.2
171 /hEN EE 4] 43 90 13.2 76.8 221 |)kB&AN #H 4] 49 96 16. 8 79.2
172 /M1 F0E 49 | 47 96 19.2 76.8 222 |£H = 44 39 83 3.6 79.4
173 [MEy BB 49 | 47 96 19.2 76.8 223 |FEM A 43 40 83 3.6 79.4
174 |\[FH H— 47 49 96 19.2 76.8 224 |BER  BE 54 59 113 33.6 79.4
175 |4L)1 &= 53 | 49 102 25.2 76.8 225 |HLE kX 53 53 106 26.4 79.6
176 | KF & 51 51 102 25.2 76. 8 226 |iEE X 49 57 106 26.4 79.6
177 |##H SF% 57 51 108 31.2 76.8 227 (@i EREER 62 56 118 38. 4 79.6
178 TR EH 41 42 83 6.0 77.0 228 |82 RE 54 50 104 24.0 80.0
179 |FHFEX BXR 48 41 89 12.0 71.0 229 (xH Al 59 61 120 40.0 80.0
180 ;& {£BH 39 50 89 12.0 77.0 230 (3% (& 45 46 91 10. 8 80.2
181 [[FE B# 47 48 95 18.0 71.0 231 B R= 50 47 97 16. 8 80.2
182 |5FH #E&H 46 49 95 18.0 77.0 232 | L% 38h 53 50 103 22.8 80.2
183 |k 7% 49 | 46 95 18.0 71.0 233 |BAH EX 57 52 109 28.8 80.2
184 | K%t 49 | 52 101 24.0 77.0 234 g B— 63 55 118 37.2 80.8
185 |EH B 45 43 88 10.8 11.2 235 (LA BEE 51 48 99 18.0 81.0
186 [/hA FEX 44 | 50 94 16.8 11.2 236 | K¥ —x 63 58 121 40.0 81.0
187 (W2 ¥ 43 44 87 9.6 71.4 237 |¥PE X 61 60 121 40.0 81.0
188 [(xHA 4 49 | 44 93 15.6 71. 4 238 |KtE RE 54 | 48 102 20.4 81.6
189 (A EEf 47 | 46 93 15.6 11.4 239 |Ei; Fif 59 | 47 106 24.0 82.0
190 |BE E— 50 | 55 105 27.6 17.4 240 [JIFr E— 60 56 116 33. 6 82.4
191 |#8K 3 57 54 111 33.6 11.4 241 |[ER %= 58 517 115 32.4 82.6
192 [dLFE &= 38 | 42 80 2.4 71.6 242 (W RIE 53 | 61 114 31.2 82.8
193 |FIl BE— 54 | 50 104 26.4 77.6 243 |"TE EER 55 51 106 22.8 83.2
194 =il FEt 61 55 116 38.4 77.6 244 &% F— 51 59 110 26.4 83.6
195 (ARER Z=— 45 40 85 1.2 77.8 245 | KT HEEH 55 55 110 25.2 84.8
196 (@ Hif 46 | 45 91 13.2 11.8 246 |[dt¥ = 65 57 122 31.2 84.8
197 |B5UE  EA0 46 45 91 13.2 77.8 247 |#v K BEF 67 58 125 40.0 85.0
198 [TiE 1B 46 b1 97 19.2 11.8 248 (FE  FOiE 65 65 130 40.0 90.0
199 [/hd2 3& 53 50 103 25.2 77.8
200 |IUA Fs 51 45 96 18.0 718.0
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